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Multiple Choice Questions
[bookmark: _GoBack]Chapter 5: Strategy: Make or Buy?
For each of the following questions, read each question carefully and then choose the answer you believe is most correct:
	Question and options
	#
	Ans.

	A transaction cost are the economic costs associated with:
a. exchanging goods or services
b. employment contracts
c. horizontal integration
d. vertical integration
	1
	a

	Horizontal integration occurs:
a. when a firm competes with another
b. when a firm outsources to another
c. when a firm is dissolved
d. when a firm acquires or merges with another
	2
	d

	Vertical integration occurs:
a. when a firm competes with another
b. when a firm outsources to another
c. when a firm moves into activities that were previously undertaken by a supplier or a customer
d. when a firm acquires or merges with another
	3
	c

	Outsourcing occurs when:
a. activities that were previously undertaken by the firm are moved to outside suppliers
b. firms take over activities themselves that they previously bought
c. a firm sells a business unit to another firm
d. none of the above
	4
	a

	The alternative to market transactions in TCE is:
a. barter
b. gift exchange
c. employment contracts
d. potlatch
	5
	c

	[bookmark: OLE_LINK1]According to TCE, the boundary of the firm is defined by ______.
a. the limits of managerial cognition
b. geography
c. decisions about internalizing or externalizing activities
d. none of these
	6
	c

	The ‘father’ of TCE is:
a. Karl Marx
b. Hamish McTaggart
c. Ronald Coase
d. Henry Mintzberg
	7
	c

	TCE postulates that human actors are characterized by ______, ______ and ______.
a. creativity/opportunism/strategic foresight
b. bounded rationality/bounded business units/unbounded energy
c. bounded rationality/opportunistic behaviour/feasible foresight
d. none of these
	8
	c

	What is TCEs’ key question?
a. whether transactions should be coordinated within a firm or across markets
b. whether rationality is bounded enough
c. whether to invest more in innovation
d. all of these
	 9
	a

	Bounded rationality means:
a. we never have perfect knowledge and hence can never be perfectly rational
b. we are irrational by nature
c. we cannot be rational because we are opportunistic
d. gaining advantage by being economical with, or even distorting, what we take to be the truth
	10
	a

	The assumption that parties of long-term contracts will breach the spirit of a contract if it is in their self-interest to do so is referred to in TCE as:
a. material breach of contract
b. spiritual breach of contract
c. opportunism
d. opportunity
	11
	c

	The principle that parties to a contract have the capacity to look ahead and to integrate those insights into the ex-ante decisions is known in TCE as:
a. feasible foresight
b. strategic foresight
c. opportunistic foresight
d. bounded foresight
	12
	a

	Asset specificity is:
a. the degree to which a firm can specify the assets that it owns
b. the degree to which a firm can redeploy an asset to alternative uses without loss of value
c. the degree to which a firm can realise the value of an asset on the market
d. none of these
	13
	b

	High transaction frequency is thought to be one of the underlying factors behind:
a. internalization
b. externalization
c. horizontal integration
d. vertical integration
	14
	a

	Concurrent sourcing means:
a. buying from multiple suppliers to avoid small numbers bargaining
b. buying from domestic and foreign suppliers
c. buying from large and small suppliers
d. buying from suppliers as well as making in-house
	15
	d






